
Product Name: STRATA E3
Product Ref: ST90E3
Art number: 407250

= 45mins
= 35mins

salesdesk@techlink.uk.com

www.techlink.uk.com   
www.recharge.uk.comWeb

(UK)Free Phone 0800 634 2699 
(US)Toll Free (844) 499-1159

ST90E3 REV9

x1C

11

C

10
To adjust the tilt of the TV screen on the 
brackets loosen the side screws then 
tighten when correct angle is achieved.

Once happy with the screen angle mount the
TV onto the bracket and secure in place with
parts D.

1 2



BH AG NC

x2

x2

x2H

G

C

B

A

N

BH AG NC

9b3

STRATA ST90E3

Take extra care not to over tighten any screws as this may cause damage!

[D] x 1
[A] x 2 [B] x 2 [C] x 1

[S1] x 4SCREEN
FITTING
KIT

[S2] x 4 [S3] x 4 [S4] x 4 [S5] x 4 [S6] x 4 [S7] x 4 [S8] x 4

[S9] x 4 [S10] x 12 [S11] x 4
[S12] x 4

[E] x 1

[G] x 1

[F] x 1

[H] x 2

POLYSTYRENE

M6x25mm M6x40mmM4x20mm M4x30mm M5x30mmM5x20mm M8x25mm M8x45mm

0

20

30

40
45

srete
milli

m

10KG

10KG

40KG

10KG

[1] [2]

[9][7] [10][8]

[3] [4] 

[12]

[13] x2[6] 

[5] 

[11x2]



1

1312

10

9

8

7

2

3

6

4

5

M
L

O

x2

x2M

O

L

9b2

M
L

O

11

11



6

2

13

1

13

15KG

[1] x 2

9b1 9b2 9b1 9b3

[A] x 2
(M4 X 14)

[C] x 4
(M6 X 14)

[B] x 2
(M5 X 14)

[D] x 4
(M8 X 20)

[F] x 4
(M8 X 30)

[E] x 4
(M6 X 30)

[G] x 2 [H] x 4  [K] x 2
[L] x 2

(M6 X 12)
[M] x 2
(M6) [I] x 4  [J] x 4

[N]

[O]

9b1

H

F

E

D

C

I

J

K

N

x4

x4

x4

x4

x4

x4

x4

x4

Wall 
Bracket

Wall 
Bracket

C D E F

H

1

K I J

H

1

K

C D E F
H

1

K I J

H

1

K

Wall Bracket Wall Bracket

9b Screen Fitting including Sound Bar Mounting Bracket

Keyhole Sound Bar Mounting Pilot Hole Sound Bar Mounting



4

3

POLYSTYRENE

If �tting soundbar bracket go to step 9b

8 Slide the bracket onto the pole and secure at
a height suitable for your screen size. If the mounting holes on your TV are

low secure the bracket lower

If the mounting holes on your TV are
high secure the bracket higher

F F 10 H

H

x1

7

8

3

4

H x1

When completed, move to step 10

POLYSTYRENE

H

POLYSTYRENE

POLYSTYRENE

POLYSTYRENE

SCREEN FITTING 
KIT REQUIRED 
FOR THIS STEP

9

F

S9 S12

S1 S8

S9 S12
at best 

you would like 
y

F

S1 S8

Choose the holes th
suit the hight 

our screen at.

11

11



5

6

A

B

G

x2
x2

F

For optimum screen height for screens 
below 40” remove the top screw from 
part 5 as shown above. For screens above 
40” do not remove this screw.

7

x1
x1

D

E

F

E

F

D

Full Movement Restricted Movement No Movement

12
9

5
G

A

B

F

POLYSTYRENE

POLYSTYRENE


